
Coin Pusher V2 Bill of Materials. Recommended parts, but you can substitute as applicable.
Assemb

ly Item Quantity Description Part No Vendor Cost (ea) Line Total
1 60 #4-40 x 0.75inch Round Head 90272A113 McMaster 0.02 1.38
2 60 #4-40 Nut 90480A005 McMaster 0.01 0.60
3 16 #6-32 x 0.5 inch Round Head 90279A148 McMaster 0.04 0.64
4 40 #6-32 x  5/8 inch Round Head  90272A150 McMaster 0.04 1.60
5 8 #6-32 x 1.00 inch Round Head 90279A153 McMaster 0.05 0.40
6 2 #6-32 x 1.25inch Round Head 90279A155 McMaster 0.07 0.14
7 66 #6-32 x Nut 90480A007 McMaster 0.01 0.66
8 10 #8-32 x 0.5" Truss Round Head 90271A194 McMaster 0.04 0.35
9 4 #8-32 x 1.25 inch Round Head 90279A201 McMaster 0.06 0.23

10 6 #8-32 x Nut 90480A009 McMaster 0.02 0.09
11 4 #8-32 x 1.00 inch F/F Hex Stand Off (Aluminum) 91780A198 McMaster 0.4 1.60
12 4 #8 x 0.5 inch Nylon Spacer 94639A403 McMaster 0.09 0.35
13 1 Piano Hinges #8 or #6 holes (11.5") 3.00 3.00
14 1 M5 x 60mm Hex Head (fully threaded) 91280A248 McMaster 0.18 0.18
15 5 M5 x 20mm Head Head  90128A248 McMaster 0.10 0.51
16 6 F625zz Flange Bearing (5x16x5mm) M5 0.86 5.16
17 8 M5 Nut 90591A260 McMaster 0.03 0.22
18 14 M5 Washer 90591A260 McMaster 0.02 0.32

19 8 M5 Washer (Wide) 91100A140 McMaster 0.04 0.28
20 100 Perler Beads 0.01 0.50

18.20


